1)~3)
4)
5) R K
5),6)
1
2mm
TN/ ] 2
1.0m 0.6m
3 14 38
. AC
D [mm]
T T=axDP"
2 ab 1
2mm T [kN/ ]
A[m?]
AC [kN/m?]
1
AC== DT
A D>2mm
AC
2~30 [kN/m] 2-20 [kN/m’]
1 ab
N a b
66 | 0.0386 | 1.2962
47 | 0.0184 | 1.7108

7

7

2.0m

1.0

T KN/ ]

05 T+

T =0.0386D 2% o

0.0
0.0

10.0




AC [kN/m?]

AC
7)
4
25 O 2000 /ha
AC=352 X276 ° 2000 /ha
1600 /ha
20 A 400 /ha b —_— 400 /ha
O
15 ~ ®
AC=23.4 X142 7 2010
—
10 4 1600 /ha
5 -
O T T T T
0 1 2 3 4 5
X[m]
4
AC
AC
5) AC
20 30
AC
AC
25
20 —0—20 =0.50
—— 30
'€ 15
z
9 10 4
5 -
0 T T T
1 15 2 2.5 3
[m]
5
1) 20
2) p.3 2009
3) p.5 2008
4) ( )
5)
6)
7)

AC [KN/m?]

AC

4
25
20 ~
15 A
10 A
5 -
O T T T T
0 1 2 3 4 5
[m]
LYCS®
4000 /ha
5 4
5
25
204 | =20 =0.50
—e— 30
E 15
2
=
9 104
5 -
O T T T T T
10 20 30 40 50 60 70

p.50 p.54 p.134 2009

2000
23 p.65-124 1987

No0.373 p.105-181 1997

No0.311 p.11-37 2010
LYCS http://www?2.ffpri.affrc.go.jp/labs/LYCS/index.html



